YcTHBIE
yInpaxkKHEeHHS

ARcHoMaA
H3MEPECHHSA

YILAOB

Bazpeuosa BanenmuHa BopucogHa
yuumeso mamemamurKu

Yemo-Qynacckas ocHo8HAsL WKOoAA,
cmpykmypHoe noopasoeneHue
MBOY «\ewwyKoHcKast cpeoHsst
obuweobpazosamestbHASL ULKOJLA»

n.Yemuo-Hynaca,
/ewyKoHCcKo20 paiioHa,
ApxaHzenvckoil obracmu

Mmamemamurxa



ARcHomMa
H3MEpPEHHSA

Ne .
ZZauo:.
2GDF-5]? yraoe
< FDE=32°

Haiioume:.
ZGDE=2

Mmamemamurxa



No 2.

aHo..
ZLMLO=132°
Z OLE=48°
Haiioume:
ZMLE=?

ARcHomMa
H3MEpPEHHSA
YIT'AOB

Mmamemamurxa




ARcHomMa
H3MEpPEHHSA

MNe 3.
ZZGHO.’-
< OHT=136° yrAoB
< RHT=58°

Haiioume:.

2 OHR=?

Mmamemamurxa



Axcuoma
Ne 4. H3MEpPEHHSA
/lano: YTAOB
Z FPD=144°
£ LPD=-« FPL=16°
Haiioume:
£ DPL=?
£ FPL=?

Mmamemamurxa




ARcHuomMma

Ne 5. H3MepEeHHS

/lano: S YTAOR
ZSKN=132°

ZLKN: 2 SKL=2:1

Haiioume:
ZNKL=2?
LYK =27

Mmamemamurxa



ARcHuomMma

Ne6. H3MepEeHHS

Hano: YTAOB
Z DHN=140°

< THN40% om « DHT
Haiioume:
Z NHT=?
Z DHT=?

Mmamemamurxa




ARcHuomMma

Al N H3MEpPEHHSA

dHO..
£ MNT- 2 MNK=60° T YTAOB
2 TNK: 2 MNK=5:1
Haiioume:
£ TNK=?
£ MNK=?
Z MNT=?

Mmamemamurxa




